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Section A
Active citizenship

Answer all questions in this section.

0]1] Investigating the action of others.

. What is a pressure group?

[1 mark]
: What is meant by the term ‘lobbying’?
[1 mark]
: Identify two ways in which a pressure group differs from a political party.
[2 marks]

. Using an example, explain what is meant by the term ‘advocacy’.

[2 marks]
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. Using an example, explain one of the functions of a Trade Union.
[2 marks]

Question 1 continues on the next page
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: @ Source A

Million mask march

This source has been removed due to third-party copyright restrictions.

The Million mask march was organised on the internet by Anonymous, an ill-defined
group without a formal structure. They arranged the march in London, to hit back at
austerity measures and inequality in society. Others joined the march to campaign
about diverse issues such as poverty, homelessness, animal welfare issues and
human rights.

Some of the protesters tried to enter Great George Street - a short distance from
Conservative Party headquarters which had been closed off. This led to some violent
scuffles and the police made some arrests.

One Million mask activist, who gave her name as Lola, said, “The media will twist what
has happened. We are peaceful, we are doing this in a peaceful manner, but the
media focus will be on the 1% who caused the trouble with the police.”
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. @ Examine why the Million mask march is unlikely to achieve its aims.

In your response you should refer to Source A and examples of successful
campaigns.
[8 marks]

Turn over for the next question
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0]2] Your Investigation

State your investigation’s issue / question below.

0]2]. Explain how either one primary or one secondary source assisted in regard to your
investigation.

[2 marks]

. Discuss which part of the whole investigation process you consider was the most
successful and why.

[4 marks]
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. Summarise the evidence you gathered at the research stage.

Evaluate its usefulness in relation to your issue /question.
[6 marks]

Question 2 continues on the next page
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: Analyse the ways in which your investigation was a good example of taking
citizenship action.

Give reasons for your answer.

Your answer should refer to:

why you chose the issue to investigate

how it improved your understanding of the issue

how you were able to use and develop practical citizenship skills
the outcome you achieved.

[12 marks]
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Extra Space

END OF SECTION A
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Section B
Politics and participation

Answer all questions

. What is a referendum?

Shade in the one correct answer.
[1 mark]

A When citizens are asked to vote on an issue

B When citizens can propose new laws

C When citizens can remove an MP whom they no longer
support

o o] [of o

D When citizens ‘write in’ candidates’ names on a ballot paper

| : Identify two situations in which a referendum might be used.
[2 marks]
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Source B

-

Constitutions

Gun crime in the USA is far higher than in most other developed countries including
the UK. Many observers feel that this is related to the right ‘to bear arms’, given to
US citizens in the US written constitution which was created in 1787.

President Obama has been unable to change the laws on gun ownership as there are
many US citizens who feel it is their right under the constitution.

Amending laws in the USA is very difficult as the President needs to get the
agreement of a majority in Congress to pass any changes to the existing law. At
present the President’s party does not have a majority in Congress.

The President also faces the problem that each US state has different rules and laws
about gun ownership. If he wanted to amend the constitution about the right ‘to bear
arms’, he would face obstacles in each US state they have the power to decide about
changes to the US Constitution.

Using Source B, consider two reasons why the British constitution makes it easier
for elected UK politicians to bring about changes affecting citizens’ rights than for the
US President.

[4 marks]

Reason 1:

Reason 2:

Turn over for next question
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. What is the title usually given to someone elected at a local government election in
England?
[1 mark]
Shade in the one correct answer.

A Councillor

B MP

C MSP

o] o] o] o

D Secretary of State

: Name two services provided by local government in England.

[2 marks]

Service 1:

Service 2:
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0]4

Source C

Influencing Local Government

A planning decision about building a new supermarket in rural Dorset will shortly be
discussed by the local District Council.

Concern has been expressed by local citizens living nearby about the impact of the
development upon the local village community.

Two public meetings have already been held in the village where large numbers of
villagers have complained to the Council about the proposal. Many feel that just
complaining to the Council is not enough and want to take more action and involve
others who may disagree with the development.

The development is adjacent to an RSPB nature reserve, and the National Trust own
farmland that the developers will need to acquire.

The local newspaper has already printed several letters from residents opposed to
the plans.

The issue could become very political, as local District Council elections will be held
in the area in the next few months.

. Referring to Source C consider what two methods you would suggest the local

residents take to help them stop the proposed development?

[4 marks]

Method 1:

Method 2:

Turn over for the next question
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: The UK Prime Minister is also two of the following:

Shade two correct responses.
[2 marks]

Constituency MP

Black Rod

Head of State

Speaker of the House of Commons

Chairman of the Cabinet

m m oo O W >

Mayor of London

oJo] ][] e

. Which of the following two jobs do civil servants undertake?
Shade two correct responses.
[2 marks]
High Court judge
Advising ministers on government policy
Cabinet Secretary
Local Councillor

Government Chief Whip

m m oo O W >

Junior Minister

o]l o] o] o]

0]5] Source D

Proportional Representation

The information below shows the outcome of a General Election in the United
Kingdom using the “First Past the Post system”.

Party MP’s elected Share of the National Vote
(%)

Conservative 310 40

Labour 240 35

Liberal Democrats 20 20

Others 30 5

Total 600

The Leader of the Conservative Party declared a resounding victory after getting an
overall majority of 20 seats. The First Past the Post electoral system, he stated, has
again produced a strong one party government.
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|0|5]|.[3 | Describe the impact on the result and formation of the next government if the
election shown in Source D had been held using a Proportional System of voting?
[4 marks]
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. Which of the following accurately describes the UK?

Shade in the one correct answer.

[1 mark]

A Direct democracy

B Representative democracy

C Republic

D Federal

o] o] o] o

: Considering a range of views, justify the claim that UK citizens can participate in
politics more fully than citizens in a non-democratic country.
[8 marks]
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. For elections to the House of Commons, what is the minimum voting age?
[1 mark]

Shade in the one correct answer.

A 16

B 18

C 21

D 25

o] o] o] [o

: “All prisoners should have the right to vote in elections”

Considering a range of views, to what extent do you agree with this statement?
In your answer you should consider:
e How we deal with those who commit crime

e \Who can and cannot vote

[8 marks]
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Extra Space

END OF QUESTIONS
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There are no questions printed on this page
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